2014 A
@ @
20 0.5
1. 0.462 min™' 1.00 x 10° mol-L™
2. H,(g)+1/20,(g)=H,0() 298.15K Q Q
kJ-mol™
3. A o H & =29.4 kJ-mol” 61 Ay, SE
J-mol K!
4. I NH;yH,0 CN- §*
(1) Ag’
(2) Ag

(Ko (Ag)=8.51x10"7 K (Ag,S)=6.69x10"" K’ (Ag(NH,); =1.1x10’

5.
6. 2A+BT—2D K,=pp/Ps
Ke
7 d’
- €q _ tog o
8 26  Fe*'
Dq Dq
9.
10. PCI; PCI;

K’ (Ag(CN); =1.3x10"" )

(

)
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12.I, Cb
I, HNO;
13.
(CuFeS;)
14.
NaCl Cr Na"
Na*
15. Pauling
16.
17. NazSQO3 H20 Clz
18.
19. Cuy(OH), CO;
20 1
1.f d-d
2. Hg™ Iy Hg,l, Hgl,
Hg
3 CO,
4. [Ni(CN)4* dsp’
5. FeCls Fe*
6. Na,Cr,07 NaHCO; Na,CrOy4
7 TiO,
8 Ir Os Pt Re
9.p
10. HBI’O4
11. CaF, AgF
12. SO; sp” G
T
13.As Sb Bi
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14. AgNO;

15. NO,
16. PbSO, Pb(Ac),
17. n p
18.  B,O; B,05; -B-O-B-O-
19.
20.
20 4
1. NaH,PO, Na,HPO, 1.00 L pH=7.20
50.00 mL 5.00 mL 0.10 mol-L™" HCI pH 6.80
NaH,PO,  Na,HPO, 0.500 mol-L"
H;PO;  1.0mol-L"' NaOH
85%  wt/wt 1.69 g/mL 98 pK.=2.1 pK,=7.2
pKa3:12.7
2. E’(HCN /H,)=-0.545V , K{(HCN)
3. 301 64.8% 23.6% 5.6%
6.0% 195.05 35.45 18.01 17.03

4. 03 mol'L"'CuSO; 1.8 mol-L’!

K4 (Cu(NH,)¥)=230x10" K (Cu(OH),)=2.2x10™

5. 298.15K

1 )+0, (g) = CO,(g) A,H?, =-393.5k] /mol

r'im,l

2 Hy(@++0,(2)=H0() aH/

r m,2=

—285.8kJ / mol

0.6 mol-L™' NH,CI
CU(OH)z

K/(NH, ¢ H,0)=1.8x10~

A.GY =-394.36kJ /mol

r~m_l

A,GY, =-237.13kJ /mol

r~m2 —

3 CH(g)+10,(2) =2CO,(2)+3H,0()  A,G’, =—1500.11kJ /mol

r~m3 —

4  2C( )+ 3H,(g)=C,H(g) AH?, AU!

r'im4

K@
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1. 2NO + Br, — 2NOBr
1 NO + Br, — NOBr,
2 NOBr; + NO — 2NOBr
(1) 1 2

(2) 1 2
3)
_ 2
v=kC NOC Br,
1 2 ?
4)
NO + NO + Br; — 2NOBr
2.
3.
4 S p d ds f
?
S. ICILy
6.
?
7.
(1)Na Mg Na
(2)Na”  Ne
8. CrCl;s
AgNO3
2/3
NH;
9. A
HNO3 — C AgNO3 C
E D
H,S C F F
H

I

AgCl

(NHy)2Sy

Mg

CI'C13 6NH3
AgCl
NaOH

HCI
D D

G

CI'C13'5NH3
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